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[3] [A]
ART-I (PART -I)
919 {9 9 RS (CHILD DEVELOPMENT AND PEDAGOGY)

fdsr : R g7 % g7 &7 & [ qag ST [[wey g

Direction : Answer the following questions by selecting the most appropriate option.

1. T gfs TOE fehed S 7 1. Who developed the first intelligence
test ?

(1) [aX (1) Lavator
(2) (2) Sanguin
(3) WI~ad TMeed (3) Francis Galton
(4) s o AR wE (4) Alfred Binet and Simon

2. TGS & R S g8 NI Hl 2. A branch of psychology which
T & am cﬁ Siiahd | iR, studies how people change physically,
| | Ol | i e S | cognitively and socially over the
I5Ad &, Heaw 8 ¢ entire life span is known as :
OREREREICE] (1) Clinical psychology
(2) WA AR (2) Counselling psychology
(3) foepraTeTs FAIas™ (3) Developmental psychology
(4) AR AR (4) Experimental psychology

3. fFafeifad & & @W-ar SO 3. Which of the following is not the
AeRE & R 7 innate motive ?
(1) guen (2) ™ (1) Safety (2) Hunger
(3) 9™ (4) fagm (3) Thirst (4) Rest

4. 78 fpE @@ B “ReaiNEen @@, 4. Who stated that "Adolescence is a period
T, THE = oY Pl SFaeR 37 7 of stress, strain, storm and strife" ?
(1) faferaw wgo @4 (1) William H. Barton
(2) ©d 2 (2) Stanley Hall
(3) Slo o Behite (3) J. A. Hadfield
4) i fEms (4) Jean Piaget

Level-3/318 P.T.O.
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5. ffefad & @ @9-a1 W 3 ved
AT QT ST @l Seaad @
g7

(1) G9E G AT
(2) T At

(3) TFF AREH

(4) Tgfasies S

freifofeg & 4 @9-@ afka 9o
P STIEE ThE & °

|®

(1) aead gt

(2) FHEIHAE Sfafy

(3) T wiaty

() gt sfaf
frfafed & & @M-a1 o8 AR
WA H AT T8 ©

(1) Hiaftes gRyerdr

(2) ATHL™E

(3) HGEIE

(4) TH qHihT bl &

frfafeg & & aF-@1 @o@E SiF

e 9 o deTHe e s
T Fgffear ® ?

(1) SATCHETIRTT
(2) G R
(3) Qiebfereh

(4) dga

Level-3/318
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Which of the following is the highest

level in hierarchical theory of

learning given by Gagne ?
(1) Problem solving learning
(2) Principle learning

(3) Concept learning

(4) Multiple discrimination learning

Which of the following is the non
projective technique of personality
measurement ?

(1) Association technique
(2) Sociometric technique
(3) Construction technique

(4) Completion technique

Which of the following is not the
characteristic of good mental health ?

(1) Emotional maturity
(2) Self confidence
(3) Intolerance

(4) Capacity of self evaluation

Which of the following concept is
not introduced by Jean Piaget in his
Cognitive Development theory ?

(1) Assimilation
(2) Accommodation
(3) Symbolic

(4) Equilibration
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9. Ffafed & & H-a1 T = aARA
% o & e ¥ 99 W FW
froifg axo 4 @ 7&F B ?

(1) TURspd Ha T & =)
(2) T B =0
(3) ATHTHME I
(4) TRURE T & ATET

10. TSNS M & AEIS-Ais
fRrsia & s & & ?
(1) i
(2) I T
(3) w4 A
(4) BrEATT

11. FHefag & @ s9-d afkg Joe
3 vt ufafy 78 B °

(1) I geed qeeT

(2) 9399 I AR & T
(3) @R gt e

(4) R FaEs qher

12. Feffeq & & H9-@1 ®ed &N
guiied Ao & TAHS [AATH B
TER 78 © 7
(1) sfgfa
(2) di= =BT
(3) @R wE
(4) Sfgard
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[A]

Which one of the following stage is
not prescribed by James Draver in
the
character ?

context of development of

(1) The stage of crude emotion
(2) The stage of sentiment
(3) The self regard stage

(4) Conforming conventional stage

Who was the founder of socio-culture
theory of cognitive development ?

(1) Jean Piaget
(2) Jerom Bruner
(3) Lev Vygotsky
(4) Kohlberg

11. Which of the following is not the

type of projective technique of

personality measurement ?

(1) Word Association Test

(2) Woodworth's Personal Data Sheet
(3) Sentence Completion Test

(4) Thematic Apperception Test

Which of the following is not the
type of dynamic trait of personality
given by Cattell ?

(1) Attitude
(2) Urge
(3) Sentiment

(4) Conservative
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1

g g @ & U Swh SETE
gl (e AR 8 Tehal & 7

(H)287 5™
2)0F4ad
(3) 16 ¥ 18 a9
4) 39 10 a9

frfafed & & M-8 paNwEen &

Qe 72 = ?

(1) HEfReE # 9% g7 IR & 9%
H 20% B 2

(2) Rara=r 3@ it vgfr Tt

(3) IEHIT TG AT B
(4) IFES IFFaE OO IRH 9T
W qga S 2

frefofeg & @ ®9-8 IRERTT @&
o7y faQwar 8 ?
(1) PR #  FAldd & FEeR

AEIEl Bl ol
(2) IRERT ZEer MR S 2

(3) ARBRG HIER & Wi HOR
Bl Bl

4) ARERem AgE F Foi uRdaH
FHA Bl

WARE-f gieafe & & AR
G S G G| S T S 7 M
gfsater € & 8 § 7

(1) 529 67 (2) 369 51

(3) 209 35 (4) 209 A=

Level-3/318
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For which age group the Children
Apperception  Test (CAT) is
applicable ?

(1) 2 to 5 yrs.

(2) 0 to 4 yrs.

(3) 16 to 18 yrs.

(4) 3 to 10 yrs.

Which of the following is not the
characteristic of Adolescence ?
(1) Weight of muscles is 20% of

total weight of body.
(2) Tendency of day dreams
increased.

(3) Vocabulary too increases.
(4) Mental abilities reach at their
highest level.

Which of the following is the false

characteristic of motivation ?

(I) In motivation, behaviour of
person is goal oriented.

(2) Motivated

continuity.

behaviour does

(3) Nature of motivated behaviour is
rigid.

(4) Motivation does energy changes
in human beings.

to Stanford-Binet IQ
scale, what is the 1Q range of low

According

mentally retarded children ?
(1) 52to 67 (2) 36to 51

(3) 20to 35  (4) below 20
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17.

eY

T & T Hsid & ufdues B
g ?

(1) %l g8

(2) AT

(3) & WA
(4) So V-

fr=ifoifeg & @ H9-91 t% omeEal @l
faQroarett & dedt ¥ 7T A R ?

(1) oeg e Rafd & W @
PRERIE

(2) A AR H B & Sl
z|

(3) STed oTedl dXE q diEr Y& 2

(4) AR ®ad GUF URRYET e
LR o W

fr=ifofeg & @ f9-a1 Rrsra e
® IO R o gated T8
g7

(1) A g &1 T
(2) W gt & s

(3) TN a9d @ S

(4) gE=Ieer @l RS
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Who the
Anticipatory theory of play ?

was propounder  of

(1) Karl Groos
(2) McDougall
(3) Herbert Spencer

(4) G. Stanley Hall

Out of the following which one is
the wrong statement in context of
characteristics of habits ?

(1) Habit is automatic response to
specific situation.

(2) Habit 1s acquired through
heredity.
(3) Habit is a well Ilearned

performance.

(4) Habit is performed only under
similar circumstances.

Which of the following theory is not
related with the theories of transfer
of learning ?

(1) Theory of mental discipline
(2) Theory of rote memory
(3) Theory of identical elements

(4) Theory of generalisation
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20. FHfag & § P9-A1 OFeEE @
e s &1 o9 99 J@r 8 ?

(1) SEIE T Rrar
(2) Y &1 § RS

(3) TS Srgfehan &1 s
(4) 59 @ e &

21. Frefdiaa & & @A Sy
TGS 1 eI el &
(1) G R W &M Bisd B 2l
(2) ST RISl WX &M disd

T B
(3) Sifae gearetl W BT &l
(4) J5Y [EBE B AT T HEd ol

22. fFr=fofed & & @9-a1 & gavghat
P AwareTt & dat ¥ 77T B ® °

(1) JAgRT S e 2l
(2) qAwaRT aga AR e 3l
(3) gwgRT SFeuemIian Bl B

(4) JEvgh FAIRIRE @9 Bl

uHe SR § 0 S[El AN
TiofafeR @ FeT S @

(1) 37 =&

(2) |

(3) TuI™

(4) SEdTa/are
Level-3/318
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20. Which of the following is not the

other name of Thorndike's theory of
Connectionism ?

(1) Stimulus response theory

(2) Bond theory of learning

(3) Theory of conditioned response
(4) Trial and Error theory

21. Which of the following is behavioural

perspective of modern psychology ?
(1) Focuses on overt behaviour.

(2) Focuses on cognitive processes.

(3) Focuses on the biological events.

(4) Focuses on critique of male bias.

Out of the following which one is
the wrong statement in context of
characteristics of instincts ?

(1) Instinct is innate.
(2) Instinct is very powerful.
(3) Instinct is ephemeral.

(4) Instinct  is
disposition.

psycho-physical

The mental activities associated with
thought, decision making, language
and other higher mental processes is
called :

(1) Visual images
(2) Cognition
(3) Concepts

(4) Propositions
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24. FHfag & @ N 9T

eY

g?
(1) It ws ufker & 5 fF S

(2) siferm stk @9 IR A
2l

(3) SIFW 1 8 @9H B B

(4) g g oy Beet # am
BN a FgeR & URaad o
e 99 S

25. HfRad § § H9-91 So dio Fraws

N e g & RiatE aew & o6
e fAuas] B YR T8 © !

(1) TP
(2) geat
(3) Hibid®
(4) AERIRS

Frefafad & & aF-a1 @i & dw

H Fe] bk FHH o

(1) M — g7 T — R —
REEIR]

(2) §T: R — FARFH — gRT —
REEI]

(3) HARFM — gF: TR — TEEaH —
|

(4) M — 9RT — G TR -
EEEIN]
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Which of the following is the false
statement ?

(1) Learning is a process not a
product.

(2) Learning process 1is always

purposeful.
(3) Area of learning is broader.

(4) Behaviour through
instincts and reflex actions are

changes

also considered as learning.

Which of the following is not the type
of one of the component content
under three dimensional model of
intellect given by J. P. Guilford ?

(1) Figural

(2) System

(3) Symbolic
(4) Behavioural

Which of the following is the correct
logical order of elements of memory ?

(1) Learning - Recall —
Retention — Recognition
(2) Recall —  Learning —
Retention — Recognition
(3) Learning - Recall —
Recognition — Retention
(4) Learning — Retention —
Recall — Recognition
P.T.O
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21.

eY

oLt & Q9T T Hawd & g
ARaes J8@Y [ Rl AU e
fopar o ?

(1)
(2) wFd
(3) e
(4) TS

Freiifed & & @9-@ & &
qHE  Holl B Hpem H - Ghl
T 78 ' 7

(1) T Sfefeand
(2) e

(3) SR

(4) ST HHOT

29. Hffad & @ B9 &1 dH-@1 &KX

T gEarl R @ Wia & 91
foarat = FRERE 2 & ?

(1) =89
(2) o1eq
(3) T 9Teq

(4) o spfer
Ty [y & S B o ?

(1) Sio o ey
(2) faween goe
(3) T&mTE wEs
(4) So THo Fhed

[10]

21.

28.

29.

30.
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Who propounded Brain storming
method for fostering and boosting
creativity ?

(1) Torrance
(2) Myres
(3) Osborn
(4) Gordon

Which one of the following is not
correct way of releasing pent up
emotional energy ?

(1) Substitute responses
(2) Displacement

(3) Regression

(4) Self pity

Which of the following structure of

mind  directed according to
Hedonistic and pleasure principle ?
(H 1d

(2) Ego

(3) Super Ego

(4) Choleric

Who was the propounder of psycho-
analytical method ?

(1) J. B. Watson
(2) Wilhelm Wundt
(3) Sigmund Freud
(4) J. M. Cattell

Level-3/318
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[T - II (PART - II)
A7 (= g 37T [LANGUAGES (HINDI & ENGLISH)]
& (HINDI)

& : e 797 % o7 &7 & [ qag ST [dwey g

31. HN-A I AT

I B 7

(1) g @ forn, 38 9 gEei

(2) e & THE B AT & B

(3) T w95 fo T, o el
TR &

(4) S G9-TEET S

32. ggfaq faim 9= g YH AT
Tei~y

AT &l

(1) fafy — g
(2) @@ — oo
(3) X — 7
(4) |/ — Bg
33. T Yo YT @Er dwiR &
e B

(1) 399 B | I a1

(2) 3EA | gel 9 | g
(3) 3TcAEh @R BT

(4) JIEK T T

3. = & § @@ @Y W 9= dHA-A
g7

(1) g + ReX = grafax

(2) T& + IRA = 9

(3) ST + W = AT

(4) T + Y = TAEAT

Level-3/318

35.

frfofag af & ded § PW-
forepea oI ® 7

(1) I — dered, FUel, 99

(2) § — T, g6, FAgTgal

(3) 9 — 3egF, =Y, FT

(4) ¥ — g, STIAT, ST

36. W W g q FgAfa o @

TG HINT

(1) #f\g = /T + 9
(2) qHH = qEF + 7
(3) Ugqd = 39X + 7
(4) afarey = faftre + 3

37. I 9 g =&t & dad § d9-a

ferbed o7 & 7

(1) o — s, qiRwieEs, wgyor
(2) Al — YR, AN, HAELIR
(3) ¥ — g, FRBR, AT
(4) "fT — ot Site, S

38. YE-VH H IR W FHIT FH GAC

(1) Tl — de 9
(2) e — A9 IR
(3) 99 — TG I

(4) TEHITER — & I=
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. TE-fE @@ gfte § dN-ar faee

39.

FGITR 7

(1) gHF — YA & FHIA arel
(2) TEEE — @ ¥ gl g8 AR
(3) Tagah — I JTH H TR

(4) EMT — @S ) @Ak
EISIRCH

40. M9 ¥ 9 @I A Teaiy ¢

(1) g — 379 § FiHa weamas
GEl
(2) Fetar — wam | Ffia AaaEs
GEl
(3) ARl — e d@s @ Wi
ferSrer
(4) qfemel — fQiver | R

HATedrerh Gl

41. ¥ % e § HH-A @7 G 78

R ?
(1) Tl gaE b — F &l andt
AT

(2) ST e AT @ A —
SEEA BN GX SAfoSTd BT

(3) SR T P oA — THHAH TEN

(4) BT F GS H A6 q e —
SRSl &l HHSIT BIAT

[12]
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42. ‘giF e Gaar 3 I9d A @l

FHHar H TR

(1) i b Qe

(2) |feF fohdbe & Qaar 2

(3) R | fohebe W ST Tl
(4) G % 30 Bhbe G S 2

43. 91 4 4 fog famew @ gl fRamd

‘IFRHE T 7

(1) =, GEBTHT, e
(2) 3T, To, T
(3) &I, @M, |

(4) T, IS, e

44. T & GeA ¥ H-A1 ey gafed

7 &7
(1) g% | g3 R B
— foeiiesTeas
(2) B o7 1 Fm & T
— Feygs ae
(3) & AT ® g8 ST I & ST
— TWETS q
(4) T T A9 A AT @I @I
— Hphars ared
45. TG, Ah, MG U Fran wHgdrE
g7
(1) &t (2) TX
(3) Hew (4) f&e
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Direction : Answer the following questions by selecting the most appropriate option.

46.

Choose the correct option :

Transformation from Simple

sentence to Complex sentence :

A lost moment is lost forever.

(I) A moment which is lost is lost
forever.

(2) A lost moment is forever lost.

(3) Forever a lost moment is lost.

(4) No moment is lost forever.

Choose the correct option :

Transformation of sentences : Simple

to Compound

He must work hard to make up for

the lost time.

(I) He must work hard, cover the
lost time.

(2) Making up for the lost time he
must work hard.

(3) He must work hard and make up
for the lost time.

(4) Working hard will make up for
the lost time.

Select the correct conjunctions for
the blanks :

We will come ........ it rains ......
not.
(1) if, and (2) even, but

(3) whether, or (4) either, and

Choose one word substitution for the
following :

A word spelt and pronounced similar
but differing in meaning.

(1) Antonym (2) Homonym

(3) Synonym (4) Pseudonym

Level-3/318

50. Change the following sentences into

Reported Speech by choosing the

correct option.

"If you want to smoke you'll have to

go upstairs." said the landlord.

(1) The landlord told him that if he
wants to smoke he'll have to go
upstairs.

(2) The landlord told him that if he
wanted to smoke he would have
to go upstairs.

(3) The landlord said that if he
would want to smoke he would
g0 upstairs.

(4) The landlord says if you wanted
to smoke you would have to go
upstairs.

Change the following sentences into
Reported Speech by choosing the
correct option :

"We're waiting for the school bus,"
said the children, "It's late again."

(1) The children told they're waiting

for the school bus and it is late.

(2) The children said they were

waiting for the school bus and it
is late.

(3) The children complained that
they were waiting for the school
bus and it was late again.

(4) The children complained that
they were waiting for the school
bus and it is late.

P.T.O.
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52. Change the voice from Active to

Passive. Choose the right option :

We shall discuss the
tomorrow in the meeting.

question

(1) The question will be discussed
tomorrow in the meeting.

(2) We will
question
meeting.

the
the

be discussing
tomorrow  in

(3) We shall be discussing tomorrow
the question in the meeting.

(4) The question shall
tomorrow in the meeting.

discuss

53. Choose the option which has error in

it :

(A) You should
(B) tell to me
(C) exactly what

(D) happened there
(1) A 2) B
3) C 4 D

Select the correct preposition to fill
in the blank :

They live ........ the same roof.

(1) in

(2) before

(3) after

(4) under

Select the correct meaning of the
underlined phrasal verbs :

I cannot make out the meaning of
this verse.

(1) discovery

(2) understand

(3) reading

(4) start

[14]

GET IT ON
Google Play

Choose the correct form of tense

given in the option :

She (play) the sitar since 6 o'clock

this morning. He just (stop).

(1) playing, stops

(2) was played, stopping

(3) has been playing,
stopped

(4) have been playing, stopped

has just

57. Choose the correct meaning of the

underlined idiom :
He is friendly to the minister, he
jumped the queue and got promotion.

(1) replace something

(2) hopping

(3) blame somebody

(4) get something out of turn

Select the correct preposition to fill
in the blank :

He broke the jug ....... a hundred
pieces.

(1) in (2) into

(3) over (4) about

Select the correct infinitive form of
the given sentence :

Seeing is believing.

(1) To see is to believe.

(2) Seen is to believe.

(3) To see is believing.

(4) Seeing is to believe.

Select the correct tense form :

The car (belong) to my mother. She
(use) it today to take Tom to the
dentist.

(1) belonged, is using
(2) belonged, using
(3) belong, used

(4) belongs, is using

Level-3/318
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[A]

AR - ITI (PART - III)
9MY 3T=4 (GENERAL STUDIES)

B ARG, i STEHAT T4T 9T S U9 SIS (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G. K. & AWARENESS)

& : R 797 % o7 &7 & [ qag ST 4wy g

Direction : Answer the following questions by selecting the most appropriate option.

61. fpdl i f2 & MONKEY @&
XDJMNL fa@n &S|, @@ TIGER &t
39 feren s ?

(1) SDFHS
(2) SHFDQ
(3) QDFHS

(4) UJHFS

62. I fopedl Mg Yed & 9 * 3 = 36,
10 %6 = 64,9 * 1 =25, ar 36 Ye=
UX 23 * 3 [ HE 41 BT 7

(1) 169
(2) 52
(3) 32
(4) 576
63. M 1988 H 15 SR g &l FE0

T oor, @ g8 1989 # fRg R wemn
T or Y

(1) AR
(2) AR
(3) ToaR
(4) ghaX

Level-3/318

61.

In a certain code MONKEY is
written as XDJMNL. How is TIGER
written in that code ?

(1) SDFHS
(2) SHFDQ
(3) QDFHS

(4) UJHFS

62. In a certain pattern, if 9 * 3 = 36,

10 * 6 =64, 9 * 1 = 25, then in same
pattern what is the value of 23 * 3 ?

(1) 169
) 52
3) 32
4) 576

63. If the Independence Day in 1988 was

celebrated on Wednesday. On what
day was it celebrated in the year 1989 ?

(1) Monday
(2) Tuesday
(3) Thursday
(4) Friday


https://applink.adda247.com/d/XhqWf9lSap
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64. foo @ TR @ X 10 o I@ar B

T8 & 6 fEr 3 @ iR Tw B
3% A 3 ol @ &l Y =
3l 9 g8 AU RN fg @
e et e fope e 7 B 7

(1) 5 feHl ivem
(2) S foprit SR-gd
(3) 7 fdt @

(4) 7 R ufdem

65. U -1 W A | E, & df #

R 81 A, B &t R B ARXE, C
% S SR & O A & 3t &R
B, D & T &R B HH-1 8X UhaH
g { R ?
(1) A
3) D

2) B
(4) E

qefhdl @ UH Ul § Riew @1 e
Sg § 8a1 & X O & &N aF |
1741 ¥ 3T F YU WH STEA-95d S
@ e 98 ¥ 149 ®H W @ S
R Uk & g feae agfer § 7

(1) 27
(3) 32

(2) 29
4) 30

0.3467 +0.1333 GHM &R :
(1) 0.48

(2) 0.4801

(3) 048

(4) 0.48

Level-3/318
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64.
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Vijay walks 10 km towards North,
from there, he walks 6 km towards
South, then he walks 3 km towards
East. How far and in which direction
is he with reference to his starting
point ?

(1) 5 km West

(2) 5 km North-East

(3) 7 km East

(4) 7 km West

65. There are five different houses A to

E in a row. A is to the right of B and
E is to the left of C and right of A. B
is to the right of D. Which of the
house is exactly in the middle ?

() A (2) B

3) D 4) E

In a row of girls, Shilpa is 8th from
the left and Reena is 17th from the
if they their
positions, Shilpa becomes 14th from

right, interchange

the left. How many girls are there in

arow ?
(1) 27 2) 29
(3) 32 4) 30

0.3467 +0.1333 is equal to :
(1) 0.48

(2) 0.4801

(3) 048

4) 048
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68. T {Ea H T Y& S HiT

127, 128, 136, 163, 227,

(1) 352 (2) 350
(3) 357 4) 341

69. I A FH o S, B & g
‘qarg’, C & o1 ‘9, D &l o1
U &, W e B AR AN
1 BR ?
IS8A12C6D2BS5 =
(1) 25 (2) 27
3) 15 4) 17

70. 19§ B R Y 7 g g AR
Bl 3T BT :
a —cdaab —cc —daa — bbb — ccddd
(1) bdbda
(2) bddca
(3) dbbca
(4) bbdac

711. B @ % oWiga ok aRdd &
BTl %l ST B
1) 1:4 2) 4:1
(3) 1:2 4) 2:1

72. 11, 11.11, 0.11, 0.011 & HoHoYo
G I |
(1) 0.011 2) 1.1
(3) 0.11 4) 0.111

Level-3/318
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68.

GET IT ON
Google Play

[A]

Find the next term of the number
series :

127, 128, 136, 163, 227,
(1) 352 (2) 350
(3) 357 4) 341

If A means 'plus’, B means 'minus’,

C means 'divide by, D means

Then be
simplified value of

18A12C6D2BS5 =2
(1) 25 (2) 27
3) 15 4) 17

‘multiply’. what  will

Find the missing letters in the given
letter series :

a —cdaab —cc —daa —bbb — ccddd
(1) bdbda
(2) bddca
(3) dbbca
(4) bbdac

71. The ratio of the areas of the incircle

12.

and circumcircle of a square will be :
(1) 1:4 (2) 4:1

3)1:2 4 2:1

What is the HCF of 11, 11.11, 0.11,
0.011?
(1) 0.011
(3) 0.11

2) 1.1
4) 0.111


https://applink.adda247.com/d/XhqWf9lSap
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13. =il ue § den fed MiveEd
Yod X URFER otgdr WeER ford
g ¢l 39 Yod & qEE ok g

T e (vearas f¥E) S| S
6 11 25
8 6 16
12 5 ?
(1) 18 (2) 16
(3) 12 ) 10
74. ¥ AMSAT 132 HieX ud 108 Hie
el TR @ s R § o W@
g g 9w @ T 32 ReHvEver
T G H 40 FElATe B R
7Y § 3 UhH-gE Bl qR AT I 7
(1) 8 Fo
(2) 10 ¥o
(3) 12 ¥o
(4) 11 Qo
15. IR 7 953 7 FHHA H 8 g H
wbd ¥ A, 70 T8 70 R F T
q fohae g T ?
(1) 8gue
(2) 560 g
(3) 56 g9
(4) 70 g9

Level-3/318
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13.

GET IT ON
Google Play

The numbers in the following question
numbers are written according to
certain pattern row-wise or column-
wise. Identify the pattern and find
the missing character accordingly :

6 11 25

8 6 16

12 5 ?
(1) 18 (2) 16
3) 12 4) 10

Two trains 132 meters and 108
meters long are running in opposite
direction, one at the speed of 32
km/hr and another at the speed of 40
km/hr. In what time will they cross
each other ?

(1) 8 sec.

(2) 10 sec.
(3) 12 sec.
4) 11 sec.

75. If 7 carpenters can make 7 chairs in

8 hours, how many hours will 70
carpenters take to make 70 chairs ?

(1) 8 hours
(2) 560 hours
(3) 56 hours
(4) 70 hours


https://applink.adda247.com/d/XhqWf9lSap
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16. Rl 9% B T 20% TG @ 5, A
gaEY fHdl JUAIERT SR 31U ITHRT
4 fohan ufdsrd @ wH BT & S R
IqS TY H BiE g T @ 7

2 2
(1) 162% (2) 152%

2 1
(3) 17 % (4) 16 %

I7. \2y2y2y2V2 & 9 T OB 7
(1) 0 2) 2
(3) 1 (4) 2°1/%

78. % 10,000 =hafs &S & &4 H 5 a9
¥ M & a0 8, @ 20 9§ 9gE
I THYE AN B W TS O
feperT & S ?

(1) 40,000
(2) % 60,000
(3) 80,000
(4) T 1,60,000
79. A B&H T 10% @ § 39 & IR B

T3 CH10% & § 59 & g CH

gSl & gd T 990 IR &), Al §aET A
39 g1 e § wder o ?

(1) 900
(2) % 1,000
(3) 1,200
(4) 2950

Level-3/318
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16.

11.

GET IT ON
Google Play

[A]

The price of any item is increased by
20%.
consumption of the

Find the reduction in the
item by a
consumer so that there is no increase
on his expenditure :

(1) 16%% ) 15%%
3) 172% @) 161 %
3 3
What is the value of 2\/27 V2242 ?
1) 0 ) 2
(3 1 (4) 231/

A sum of ¥ 10,000 deposited at
compound interest becomes double
after 5 years. After 20 years the
amount will be :

(1) % 40,000
(2) % 60,000
(3) T 80,000
4) % 1,60,000

79. A sold a watch to B at a gain of 10%

and B sold it to C at a loss of 10%. If
C paid X 990 for it, then how much
amount paid by A ?

(1) 900
(2) % 1,000
(3) 1,200
4) 2950


https://applink.adda247.com/d/XhqWf9lSap
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[A]

0.

215 AU Al Yl e § Be-H
& SiEl A 6 oua geen @

YU 5: 68 ST ?
(1) 12 (2) 11
3) 13 4) 14

‘RoAT Aqi¥S IBHT BT TR fRAT
S B

(1) G Ud S @9 3R

(2) BRI Ao STREH! &R
(3) BRAN H&pd HBEH &R
(4) BRAmT & g9 st 3

82. ffoiad & & 9 2021 # ‘4aH

qIOT ATt & 7
(1) S WEE NI
(2) 4= e
(3) i {8
4) g e

83. T/l &l ffed HiieTe, foTaH/SH

JHEY FH I BT B
(i) =EERa

(i) I AT B AT FAA
(iii) BT

(iv) R =51

7& FHE F T HT
(1) &= (i)

(2) ()M Gi)

3) (@), (i) 3 (i)

@) (@, (i), (ii) R (iv)

Level-3/318
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Google Play

80. Which number must be added to

each term of the ratio 2 : 5, so that it
may equalto5:6?

(1) 12 2) 11

3) 13 4) 14

81. Monthly magazine 'Hariprabha' is

published by :

(1) Information and Public Relations
Department

(2) Haryana Sahitya Academy
(3) Haryana Sanskrit Academy
(4) Haryana Hindi Granth Academy

82. Who among the following is the

recipient of 'Padma Bhushan' in 2021 ?
(1) Jai Bhagwan Goyal

(2) Virendra Singh

(3) Tarlochan Singh

(4) Mukesh Singh

83. Identify the text/texts, in which the

reference of Thanesar is found :
(1) Harshcharit

(i1) Travelogue of Yuvan Chang
(i11) Kadambari

(iv) Karpur Manjari

Choose the correct code :

(1) Only (i)

(2) (i) and (ii)

(3) (1), (i1) and (iii)

(4) (1), (i1), (iii) and (iv)


https://applink.adda247.com/d/XhqWf9lSap
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84.

eY

. =g § @ e & @ Igm
W TGTT T 7
LK IFM A
(1) |3 —  SE
(2) F=r — g @ yeiedr
(3) ARSI —  farfer® @t
et
(4) TR — O # veifEn

85. F=iiciiga & @ fhad doe w

BRI Ie= AR & g i
% &0 H B o (e ?

(1) Sied g5 g3
(2) SIRE To FHo Hiekdl
(3) Site" THo THo M
(4) SIReq G fpem B

‘FIOTETg 39 U9 @A AR ©

() eRaen T § WA USi &l
T H &g

2) -oa  fafees # S
JeEE 4 fadE "@eEdr SeN
F &

(3) T WAked w0 @)
ST gEEe # o Ted qeN
F &g

@) =l W F g © e &
AUUT &I Medfed FHA 8]

Level-3/318
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84.

GET IT ON
Google Play

[A]

Origin of the which of the following
rivers is not correctly matched ?

River Origin Site
(1) Saraswati — Dangushai
(2) Indori — Mewat hills
(3) Markanda — Sivalik hills
(4) Tangdi — Morni hills

85. Who among the following did not

serve as the Chief Justice of the
Punjab and Haryana High Court ?

(1) Justice Mukund Mudgal
(2) Justice A. K. Sikri
(3) Justice M. S. Jain

(4) Justice Sanjay Kishan Kaul

86. 'Pran Vayu Devata Pension Scheme'

18 aimed to :

(1) Conserve older trees in Haryana
State

(2) Provide financial assistance to
the non-government doctors in
their old age

(3) Provide economic relief to the
non-government paramedical

staff in their old age

(4) Encourage plantation of Tulsi
and Giloya in urban households

P.T.O.
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81.

eY

Frticifee eRamom & toouet @
e e 98 T Ted g ger ?

(1) o THo Tghaql

(2) TmIG e &

(3) Jo THo &P

(4) EER THo THo SR
Recll-T8 Sl HReR & S
gaen ¥ wwaifad faw asveiefie
8 7 9 Jfafad § § dH-a1 Tad
g7

(1) BEEE — wad SR &=

(2) [WE — AR Ry 8=
(3) Sl — WU Fasr &

(4) IMEX — SE9 a9 a8

89. ERAMM di |dT TERT o+ fhT W

FH & aR | i e
H TR H ol

ooooooooooo

ORE

(2) rgafc

(3) "E

(4) T fagqm |9

gRan & feeniedl &) e Wit
2021 7 Sfid T HAT ©@F ¢ -

(1) 04
(3) 08

(2) 06
) 19

[22]

81.

GET IT ON
Google Play

Who among the following Governors
of Haryana died while in the office ?

(1) B. N. Chakraborty
(2) Ranjit Singh Narula
(3) J. L. Hathi

(4) Sardar H. S. Brar

88. Which of the following is not true

89. The

about the proposed investment region/
industrial area under Delhi-Mumbai
industrial corridor in Haryana ?
(1) Faridabad — Palwal Industrial
area
(2) Rewari — Hisar investment
region
(3) Kundli — Sonipat investment
region
(4) Manesar — Bawal investment

region
Haryana  Public  Service
Commission presents its annual

report of the work done by the
commission to the :

(1) Governor

(2) President

(3) Parliament

(4) State Legislative Assembly

90. The total number of medals won by

the athletes of Haryana in the Tokyo
Paralympics 2021 are :

(1) 04 (2) 06
(3) 08 ) 19

Level-3/318


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

GET IT ON
Google Play

[A]

- IV (PART -1V)

T (MATHEMATICS)

3T : R g7 & a7 &7 & [ qeag ST [Awey g

Direction : Answer the following questions by selecting the most appropriate option.

ﬁabcﬂ”ﬁ?ﬂ"ﬁ“ﬁﬁ%w

1
b Fﬁxy,

(1)W%ﬂﬁﬁaﬂ‘r
(2) TR & # B
(3) TS I°0 H B

4 @& T 2 4y -z=0

9l1.

If a b, ¢ are in G. P. and
1

a*=b" = , thenx, y, z
(1) arein A. P.
(2) arein G. P.
(3) arein H. P.

N\»—

4) will form the relation
2x* +y*—z=0

o2. I u- [ﬁ,z,z} then
y z x
du o, ou_
ox yay oz
(1) 1
2 0
3) -1
4) 2

% %@ % [ € (SPACE FOR ROUGH WORK)

Level-3/318


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

—
—
p—
o0 | —

2)

3)

oo |\O O |co

@ 3

94, T (Z,+) % ok © :
(1) 0T 1
(2) —171
(3) 0T -1
(4) S e T8 B

/2
95. .[ Veosx—cos® x drx=

-T/2
(1) 3/4 (2) -3/4
(3) 4/3 4 0

93.

GET IT ON
Google Play

Area bounded by x*=4y and
x=4y-21is:

(D
2

3)

oo |\O O |co o0 | —

O —

“)

Generators of the group (Z, +) are :
(1) Oand 1

(2) -land 1

(3) Oand -1

(4) generators do not exist

/2
I Vcosx—cos® x dx =

-T/2
(1) 3/4 (2) -3/4
(3) 4/3 4 0

% %@ % [ € (SPACE FOR ROUGH WORK)

Level-3/318
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[25] [A]
96. Th BYS ABC ® &I A B C 96. Ina AABC, angle A, B, C are in A.P.
TR ot % R b ;¢ = andb:czx/gz\/?,thenangleAis:
\/5\/? a9 BT A =
(1) 75° (2) 45° (1) 75° (2) 45°
(3) 60° (4) 30° (3) 60° 4) 30°
97. HF-9 W H f(x)=—2x>—9x? 97. f(x)=-2x>—9x% —12x+1 is
—12x+1 =R e © 7 strictly decreasing in :
(1) (2, ) (1) (2, )
(2) (-2,-1) (2) (-2,-1)
(3) (—oo,—1) (3) (—oo, =1)
(4) (=00, 2) U (=1, ) (4) (o0, =2) U (=1, o)
98. 50059+3cos(9+§j+3 Hl  HedH 98. The maximum value of
qH & : 50056+3cos(6+§)+3 is :
(1) 8 (2) 10 (1) 8 (2) 10
(3) 11 4) 7 (3) 11 4) 7

% %@ % [ € (SPACE FOR ROUGH WORK)

Level-3/318 P.T.O.
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[A]

99. AABCﬁ, Z(asin §+c smzéj

(1) a+b+c
2) a+b-c
B)b+c—a
4) c+a-b
kcosx x#
100. Iig fx)=<m-2x
3 o x=
g x=7 T o g &, k=
(1) 3 2) 6
3)9 4) 12

e g

[26]

GET IT ON
Google Play

99. In AABC, 2(5151n2£+c smzé}—

2 2

(I) a+b+c
2) a+b-c
B)b+c—-a
4 c+a->b
kcosx xig
If  f(x)={m—2x
3 ) x:%
continuous at x:%,thenkis:
(1) 3 2) 6
3) 9 4) 12

18

% %@ % [ € (SPACE FOR ROUGH WORK)

Level-3/318


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

eY

GET IT ON
Google Play

[21] [A]
101. ﬁ?g’ (-1, =5, —=10) 3 @I x;2 - 101. The distance of the point (-1, -5, —10)
from the point of intersection of the
yHl_z-2 qN AT x -y +2=5 L oox=2 y+l1 z-2
4 12 line 3 = 1 = " and the
%Hﬁ@?ﬁ%@fﬂﬁa‘ﬁ: plane x —y + z =35 will be :
(1) 10 (1) 10
() 8 @) 8
(3) 21 3) 21
4) 13 4) 13
102. =@ [0, Sn]  H GHE 102. [p the interval [0, 57], the number of
3sinx—7sinx+2=0 & & @&l solutions  of  the  equation
&7 2l 3sin® x—7sinx+2=0 is
(10 (1) 0
)5 (2) 5
(3) 6 (3) 6
4) 10 4) 10
% %4 % {4 € (SPACE FOR ROUGH WORK)
Level-3/318 P.T.O
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103.

[
(=]

[
(5]

dsh xz—y2—8x+2y+11:0 e
g (2, 1) W @il ® qiieaT B

(1) x+2=0
2) 2x+1=0
3) x—2y=0
4 x-2=0

aad 2x+3y—-6z=28 & Ma
x*+y?+z22 =25 3 yioRed U
g % B B

(1) 3 (2) 13

(3) 4 4 5

o A:F —1} . B:[a 1}
2 -1 b -1

59 TR ° & A2+ B?=(A+B)%,
ar

(1) a=4,b=1

(2) a=1,b=4

(3) a=0,b=4

(4) a=2,b=4

[28]

GET IT ON
Google Play

103. The equation of the tangent to the

ol

curve x> —y?—8x+2y+11=0 at
2, 1)is:

(1) x+2=0

2) 2x+1=0

3) x-2y=0

4 x-2=0

The radius of the circle in which the
sphere x? +y? +z? =25 is cut by
the plane 2x+3y—6z =28 will be :

(1 3 2) 13
(3) 4 “4) 5

{1 —1} |:a 1}
If A= and B=

2 -1 b -1

such that A? + B% = (A+B)2, then :

() a=4,b=1
2) a=1,b=4
(3) a=0,b=4
4) a=2,b=4

% %@ % [ € (SPACE FOR ROUGH WORK)
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106. oM GHAY Higgen 10 & HUE HYE

[
~

[
(=

G = {2, 4, 6, 8} & T@H® AGAq
g

(1 2 (2) 4

(3) 6 4) 8

Wr:a(l—cose)%ﬁv'{:ﬁﬁl%tr{
A 3@ qu W & He B
g

(1) 6 (2) 26

3) 02 (4)%
T D T B Th AN Bl T
T § 4§ A W IR &
i & (T ©F |) S S
g SRS @ G w9 R

1 2
D 55 @ 557
32 34
) 251 @ 7

[29]

GET IT ON
Google Play

[A]

106. What is the identity element in the

ot

[

group G = {2, 4, 6, 8} under
multiplication modulo 10 ?

1 2 (2) 4

(3) 6 4) 8

The angle between the radius vector
and tangent at any point of the curve
r=a(l-cos 0)is:

(1) 6 (2) 26

3) 012 @ >

Two cards are drawn simultaneously
(or successively without replacement)
from a well shuffled pack of 52 cards.
Then the mean of the number of
kings is :

1 2
) > @) 551
32 34
G 57 @ 557

% %@ % [ € (SPACE FOR ROUGH WORK)
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[A]

109. AGAIN 9= & i § Qe a1
TSN =t RN SEET ST 9T 31 IR
I & B W FAR foenr 9w o
TR el gy ¥ foer S R,
50dT 915 AT R 7
(1) NAAIG (2) NAAGI

(3) NIAAG (4) NGAAI

110. ©F HHAA THM X el MR &l B
39 RIfq #§ 40 Hio S1eRp & 8 St
8 Sfefh G H I (altitude) 60°
¥ gy 30° & I 23 4R @l
. B
(1) V3 m 2) 104/3m
(3) 20/3m  (4) 20m

1l o Bre e o oo o
g, & URAM 8 T BT & &wd
21T :
(1) 2 2) 2

1

(3) 242 @ 5

[30]

GET IT ON
Google Play

109. The words with or without meaning

[t

ot

can be made using all the letters of
the word AGAIN. If these words are
written as in a dictionary, what will
be the 50th word ?

(1) NAAIG  (2) NAAGI
(3) NIAAG  (4) NGAAI

The shadow of a tower standing on a
level ground is found to be 40 m
longer when the Sun's altitude is 30°
than when it is 60°. The height of the
tower is :

(1) ¥3m (2) 104/3m
(3) 20+/3m (4) 20 m
A triangle whose sides are positive

integers has a perimeter 8. The area
of the triangle is :

1) 2 2) 2

1
3) 242 4) —
3) 242 4 5

% %@ % [T SFE (SPACE FOR ROUGH WORK)
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112. 3% 98 G & Th TGP H & AR
ae G,be G, @ :

(1) Ha=Hb < abe H
(2) Ha=Hb < (ab)'e H
(3) Hao=Hb < a"'b e H

(4) Ho=Hb < ab 'e H

g TR M
x+y—z=0
3x—oy—-3z=0
x=3y+z=0
H AL A 8, A o=
(H -1 20
31 4) -3
R G AR b A THE AW T A
(@+b)x(axb)=¢, W ¢ % TAFN
qfer & -

(1) a-b
(3) 2a-b

el
[

ot
ot

(2) a+b
4) 2a+b

[31]

112.

[t
[t

ot
ot

GET IT ON
Google Play

[A]

If H is a subgroup of a group G and
ae G,be G,then:

(1) Ha=Hb < abe H
(2) Ha = Hb < (ab)"'e H
(3) Ha=Hb < a"'b e H

(4) Ho=Hb < ab 'e H

If the system of equations :
x+y—z=0
3x-—oy—-3z=0
x=3y+z=0
has non-zero solution, then o =
(1 -1 2)0
(3) 1 4) -3
If a and b are two unit vectors and
(a+b)x(axb)=c,then ¢ is parallel
to :
(1) a-b

(3) 2a-b

() a+b
4) 2d+b

% %@ % [ € (SPACE FOR ROUGH WORK)
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[A]

15. IR T C+x+1=0 F 9 a,
B T THHECT x*+px+g=0 &

a P .

ﬁg,aéﬁﬁpww@m.
(1) =2
2) -1
3) 1
“4) 2

116. HHIHT

(5+2)x% = (4+~/5)x+(8+2:/5)=0
% ol & U A ©

(1) 2

) 4

3) 6

4) 8

[32]

115.

GET IT ON
Google Play

If o, B are the roots of x> +x+1=0

a B of

and the

B «

are roots

X%+ px+q =0, then the value of p
is :

(1) =2
2) -1
3) 1

4 2

The harmonic mean of roots of the
equation

(5+V2)x% =(4+5)x+(8+24/5)=0

1S :

(1) 2
(2) 4
3) 6
4) 8

% %@ % [ € (SPACE FOR ROUGH WORK)
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117. AABC § gzfy CosA_cosB_ cosC
LY b a b C

qq a =2, AABC & 8% ® :
) V2

4) 3

(M 1
(3) \f3/2

118. ¥ a'l+b '+t =0 e

l+a 1 1
1 14+4b 1 |=k, @ :
1 1 l+c

(1) k=(a+b+c)
1 1 1
(2) k:E+Z+E

(3) k=abc

4) k=0

[33]

GET IT ON
Google Play

[A]

117. In AABC. if cosA:cosB:cosC

a b c

and a = 2, then area of AABC =
) 12
4) V3

(H 1

(3) 372

If al+b '+ =0 and

I+a 1 1
1 1+b 1
1 I 1+c

=k, then :

(1) k=(a+b+c)
1 1 1
(2) k:E+Z+E

(3) k=abc

@) k=0

% %@ % [ € (SPACE FOR ROUGH WORK)
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[A] [34]
119. IR z=x+iy A -2 :E’ a9 z 119. If z=x+iy and Z;2‘:E’ then
z+2| 6 z+2

EE[%F@'C[?I% . locus of zis :
(1) T & @ (1) aline
(2) T I (2) acircle
(3) T Wawd (3) a parabola
4) T ilﬁfjfl (4) an ellipse

120. 7R @ Fq@ (x-D +(y-3)7=a’ 120. If two circles (x—1)? +(y—3)* =a?
agqr x2+y2—8x+2y+8=0 | and x2+y2—8x+2y+8=0
R-RF ﬁlrgaﬁ W gfeede &g E, intersect in two distinct points, then :
ar
(1)2<a<8 (1)2<Cl<8
) a=2 2)a=2
(3) a<2 3) a<?2
4) a>2 4) a>2

% %@ % [ € (SPACE FOR ROUGH WORK)
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0O =

+

18
121. [x 21/3J ,x>0%§l'{:ﬂ'{ﬁx‘3f
X

ad IE B

(1) "cy-
2) *c,-
(3) .
4 B¢,

Waed  y* =4x H AHEE G Heal
gl Wi i W el & R
I

IEE e & § o e (39)
M ' ¢
(1) 4n @
T T
(3) 1 4) 35

[35]

121.

GET IT ON
Google Play

[A]

The term independent of x in the

) 18
. 3 1 :
expansion of | x” + , x>01s:
PE

(1) 18 C9 .
(2) 18 C7 .

18
(3 "Cs- 55
1
@ "Cy—

3 23
The part of the parabola y* =4x cut
off by the latus rectum revolves
about the tangent at the vertex. The
volume of the reel thus generated is :

(1) 4z 2) 45—“

T T
G 7 @3

% %@ % [ € (SPACE FOR ROUGH WORK)

Level-3/318


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

p—
[
2

3§ 9F 39 W %A 8 ¢

(o
2) 1
(3) 2
(4) fogwe =

[
N

f(x)=tan""(x* + x+2a),

STEBESH BN, I

(1) ag|——, =

2) ae|——,

3) age|——,

1
4) ae 3’ ooj

|&Ar 20150020150002015002015

124. qﬁTf:R%[O,%j%‘HW%ﬁE

B f

[36]

123.

[
N

GET IT ON
Google Play

The remainder when
20150020150002015002015 is
divided by 3 is :

(H o

2) 1

(3) 2

(4) does not exist

gj defined by

f(x)=tan '(x* +x+2a), then f
will be onto function, if :

Letf:R—)[O,

(1) ae —i,oo
) ae:—i,oo
3) ae:—é,oo
) ae:%,ooj

% %@ % [ € (SPACE FOR ROUGH WORK)
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125. 39 % H GHHOT S

g (1, 0)
¥ ST ® T STEhd GHII

(1+y2)dx—xydy=03blf‘€|ﬁ‘2
HAT &, BIT

(1) x*+y*=1

2) x*-y*=1

(3) 2x*+y*=2

4) x*+2y*=1

Th MM & qed-Ha Bl e

%%wawﬁamﬁﬁﬁarr{lﬁiﬁ

TAC fh T B FH 9 HH ThH X
deq P WREEAT 0.99 | Af¥E & ?

13 (2) 4

3 1 4) 2

[37]

125.

GET IT ON
Google Play

[A]

The equation of the curve passing
1, 0

satisfying the differential equation

through the point and

(1+ yz)dx—xydy=0,is:
() x*+y*=1

2) x*—y*=1

(3) 2x*+y*=2

@) x*+2y°=1

The probability of a shooter hitting a

.3 ..
target is 1 How many minimum

number of times must he/she fire so
that the probability of hitting the

target at least once is more than
0.99 ?
1 3 (2) 4

3 1 4) 2

% %@ % [ € (SPACE FOR ROUGH WORK)
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1 4 7 10
122. Q+|_3+|_4

(1) e

(2) e+2

(3) e+3

@) e+4

128. + = 1 W b x=t>,y=2 &

T H T §

(1) x+y-3=0

(2) 2x+y—-4=0

3) x+y+1=0

4 x+y+3=0

GET IT ON
Google Play

I 4 7 10
+ +

(2) e+2
(3) e+3
4) e+4

Equation of the normal of the curve

xztzty:ZIattzlis:
(1) x+y-3=0
2) 2x+y—-4=0
3) x+y+1=0

4) x+y+3=0

% %@ % [ € (SPACE FOR ROUGH WORK)
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129. el Brgst & @

[
(=]

[
[

eY

M (5, -1) &R
(-2, 3) B A B @ q9 d=
(0, 0) T &, aF BrgsT & der o &
fasris 8 ¢
(1 (7,4
(3) 4,-7)

@) 4.7
4 (4,-7)

&g 25x +16y% —150x-175=0
P IeEdl ©

(1) 2/5
(3) 4/5

2) 3/5
@) 1/5

o (2%)" S

% Ol% T &, @ n =
(1) 35 (2) 45
3) 55 (4) 48

[39]

129.

=
w

ot
ot

GET IT ON
Google Play

[A]
Two vertices of a triangle are (5, —1)
and (-2, 3). If orthocentre of the
triangle is at (0, 0), then the third

vertex of the triangle is :

1 (7.4
3) 4,-7)

2) 4.7

4 (4,-7)

The eccentricity of the ellipse
25x% +16y2 —=150x—175=0 is :

(1) 2/5 (2) 3/5

(3) 4/5 4) 1/5

In the expansion of (2+§j , the

7

coefficient of x’ and x® are equal,

then n =
(1) 35 (2) 45
3) 55 (4) 48

% %@ % [ € (SPACE FOR ROUGH WORK)

Level-3/318


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

e

132.

[ 2x+y-1=0,ax+3y-3=0
AR 3x+2y—2=0 G 20 :

(1) a % 9 IEAED AW B [T
(2) dad a=4 B R

(3) daT-1<a<3 & foQ

(4) Fada>0 B o

W f()=v2-x- 12
9—x

[
(2]

Pl

I 2

1 =3, D
(3) (=3, 2]

2) (3.3
4 (2.3)

A f:R >R 39 FBR & & f1) =2

bt
(%

1
v | fA+x) [
AR f'(1)=6, ad }}L%{ 0 } =

(H 1 (2) e

3) e 4) €

[40]

132.

=
(2]

134.

GET IT ON
Google Play

Lines 2x+y—-1=0,ax+3y-3=0
3x+2y-2=0 be

concurrent :

and will

(1) for all real values of a
(2) for a =4 only
(3) for—-1<a<3only
(4) fora >0 only
1
9—x?

Domain of f(x)=+2—x—
is :

(1) 3,1
(3) (3,2]

(2) (-3,3)
4 (2,3)
If f: R — R such that f(1) =2 and

1

1 | fA+x) [F
f'(1) =6, then )1613(1){ 0 } =

() 1 2) e

(3) ¢ 4) &

% %@ % [ € (SPACE FOR ROUGH WORK)
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[41] [A]
135. R SrfqREed 332 —2y% +4x—6y =0 135. If chords of the hyperbola
H WAl y = 2x d R &, @ 3x? —2y* +4x—6y=0 are parallel
dael & T %Fgﬁﬁ # gy to y = 2x, then the locus of the mid
e points of the chords will be :
(1) 3x—4y=4 (1) 3x—4y=4
(2) 3y-4x=4 (2) 3y—4x=4
3) 4x—-4y=3 3) 4x—-4y=3
4) 3x—4y=2 4) 3x—4y=2
6. g wimer Ly XY g g | 136 The solution of 242U g
dx X dx x?
BT is:
(1) x*y=cQx+y) (D) x’y=cx+y)
(2) xy* =cx+)y) 2) xy?=cx+y)
(3) x’y=c(x+2y) @) x’y=c(x+2y)
2
4 xy” =c(x+y) @) x?=clx+y)

% %@ % [ € (SPACE FOR ROUGH WORK)
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[A]
1317. T\/;e_’Cde:
0
1 1
(1) 3V @) 5n
3) Jn 4) 0
/2 ) P B
138. !; sm(x—zj dx =
(1) 2+42 2) 2-+2
(3) 242 4) 0
2
138, f(x+1) (x+logx) =
X

(1) %(x+logx)2+c
1 3

2) g(x+logx) +c
2 2

3) g(x+10gx) +c

4) %(x+10gx)3 +c

[42]

ol

ot

el

GET IT ON
Google Play

]?\/;e_dex:
0
1 1
(1) 3V 2) 5n
(3) Jn 4) 0
/2
j sin(x—ﬁj dx =
0 4
(1) 2+2 (2) 2-2
(3) 242 4) 0

J-(x+1) (x+logx)? .
X

1) %(x+logx)2+c
1 3

2) g(x+logx) +c
2 2

3) g(x+10gx) +c

4) %(x+10gx)3 +c

% %@ % [ € (SPACE FOR ROUGH WORK)
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140. Afgqd S9N ail B F S 24 AW

= |V

[43]

AR R Bew 6 FW AW T
SiecRRINCACEIRII O C i |
5 M & AHN F §ea fQan M
B B

(1) 28
(2) 39
(3) 69
4) 19

T .. T
1+cos= +isin~=

8 8| _
1+cosg—isin§ )
(1) 1 2) -1
(3) 2 4) -2

GET IT ON
Google Play

[A]

140. A right circular cone of height 24 cm

and radius of base 6 cm is made up
of modelling clay. A child reshapes
it in the form of a sphere. The radius

of the sphere is :
(1) 2cm
(2) 3cm
(3) 6cm

4) 1cm

T .. T
1+cos= +isin =~

8 8| _
1+cosg—ising )
(1) 1 2) -1
3) 2 4) -2

% %@ % [ € (SPACE FOR ROUGH WORK)
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[A] [44]
142. T (x-6)’+(y-4)*=9 & =9 B 142. The surface area of the solid
d by the revolution of the
R F e 3w & gEE generated by
gqﬁ . 2 2 _
e circle (x—6)"+(y—4)"=9 about
its diameter is :
(1) 4n (2) 91 (1) 4n (2) 9
(3) 16w (4) 36m (3) 16w 4) 36w
143. IR xe® = y+sin’x, AW x =0 W 143. If xe® =y+sin’x, then % at
X
dy = x=0is:
dx
(1 3 (2) -1 (1) 3 (2) -1
(3) 4 4 1 (3) 4 4 1
144. IR @Gxb)> +@@.b)>=144, |d|=4, 144. If (axb)®>+(.b)>=144, |i|=4, then
e b1 =
(1) 16 2) 8 (1) 16 2) 8
3) 3 4) 12 (3) 3 4) 12

% %@ % [ € (SPACE FOR ROUGH WORK)
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emﬁ—ga 2) § o & W
x> +y?=4 F IR W Fed T,

aﬁsﬂ%%%ﬁg’waﬁraﬁw

ap

(1) x*+y*-3x—-8y+1=0
(2) x*+y*-2x-6y-7=0
(3) 2x+4y-9=0
(4) 2x+4y—-1=0

[
[=2]

I A+ B =225, @

cotA cotB
l+cotA 1+cotB

(2) -1
4) Y

(O 1
(3) 0

e /g (b k) ga@ P +y =1 W
Req &, @ fog 3h + 2, b &
fergue 2 ¢
(1) Srfquas™

(3) 9Xag

[
=~

(2) 3@
(4) g

[45]

145.

=
[=2]

[
~

GET IT ON
Google Play

[A]

If a circle passing through (1, 2) and
intersects x> + y2 =4 orthogonally,
then the locus of the centre of the

circle is :

(1) x*+y>-3x—8y+1=0
(2) x*+y*?-2x-6y-7=0
(3) 2x+4y-9=0

(4) 2x+4y—-1=0

If A+ B=225°, then
cotA  cotB _
I+cotA 1+cotB
(D1 2) -1
3) 0 4) 72

If the point (A, k) lies on X2+ y2 =1,
then the locus of the point (3% + 2, k)

will be :
(1) Hyperbola (2) Circle

(3) Parabola (4) Ellipse

% %@ % [ € (SPACE FOR ROUGH WORK)
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[A] [46]
148. I Waog &1 9HEOT S oY 148. The equation of the parabola whose
(1, 1) @& =0 (1, 2) %’ R vertex is (1, 1) and focus is (1, 2), is :

2 —
(1) x*=2x—4y+5=0 () x*=2x—4y+5=0

2 —

2 —

2 —

149. Ff§ z=iloge(2—i\/§), dd cosz= 149. If z:iloge(2—i\/§), then cos z =
(1) i (2) 2i (1 i (2) 2i
31 4) 2 3) 1 4) 2

150. IR |Gl=Ibl=IC| @M a+b=¢, 150. If |gl=Ibl=I¢| and d+b=C¢,
NGl bh B AT H B then the angle between @ and b is :
(1) w2 2) w (1) m/2 (2) m
(3) 2n/3 4) m/4 3) 2m/3 (4) /4

% %@ % [ € (SPACE FOR ROUGH WORK)
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R @& @
I TF F RN GHEF B 9K 3§l SR IR T H
Sl

N
6. Answers to questions in answer sheet are to be

given by darkening complete circle using Black ball
point pen as shown below :

© @ ® ®

The answer will be treated wrong;, if it is marked, as given

below :
0 ® & @

If you fill more than one circle it will be treated as a
wrong answer.

10.

11.

12.

13.

14.

15.

16.

11.
18.

19.

20.

. 9l I 3T OMR I TF T & 3ifhd H1 T IT AFYI

J
. 6 FE -G § 39 WM & [T & T @i e W 8 #X (Rough work should be done only in the space

provided in the Question Booklet for the same.)

SR | IT oA o W& o1 (ThE TYS) BTN
s 1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. T% 99 & 0 RU U =R foed § & S faecy & T OMR ST % W #ad 06 99 & & T TE & a9 @Re o

¥ T TP IR X Sifhd Y B 9% 39 S&a Tel o Gl ol (Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

orepelt giafed #X 6 59 I T B AT T MW T I W FE AF NN T T el ST TS IR T |
i wm & faRed o= 71 forEh (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the
Answer Sheet.)

- T4 IR T B AFGEF T B, Fis HE A Rk § (97-gRaw o SR =% F FHE § e @ Rafy
& W) {H’ﬁ g+ W e Iueer T WI% GlTQ‘ﬂI (Handle the Question Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

HQ‘I—W/W =% ¥ RU T wEie B TRl /el ade § swn) 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

adfl F e S/ § TR w ol TeuN @ & ofoRE Rl seR i areg-aren, gd o swiiad s & afr,
YoR, MeEA B, Foaslies SUBLT A Rl SF UK & |l Bl @ S a1 IWAM HIA @ TgHI 7@l 81 (Candidates are
not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or
any other material except the Admit Card and Identity Card inside the examination hall/room.)

TEE BT 98 TN W T&F Tl oo waw 1 (e Fo) &R Wew™ UH f@M| (Each candidate must show on demand
his/her Admit Card (Roll No.) and identity card to the Invigilator.)

FE e AT THdEE AT AT $ O FE TRl STUAT WM A B! (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PR THIEE B AT IR T 2Y B T sWER 9 W SR SERR R faer erved) wlen g T8 sreh Ak e
el 7 gAY gR SWER 9 W SWRR 7o [ A ¥ A O 6 SEN IR i T8 el & o ¥ TR qEd #o
A AT STCT OMR SR 0% & Feiia @M W ol ol e o ey & oS & e e S 21 S &
MM &0 999 59 99 W M @ ] [ @ @@ Aer § & a0 A i @Rt B AR T o 959 ot o 9 7 &
¥gd P4l (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which
should be properly inked i.e. they should not be either over inked or dried in nature.)

s%aa’rﬁzs/waﬁa et B SYART afstd %I (Use of Electronic/Manual Calculator is prohibited.)

TR 2 F R & U, orweEll feRlE & & T ube/Rean-fRw 7 98 & o e @ e @ Ry ee W@ sgRa
et & wf T w e A » e wd e @ BRI (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

fepelt e HQ‘[—SFFIEF[ IR TR =% Eﬁg AN T I B (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

TUE T BN W, TRl F/2 Bled § [ S TN H-THAEE B oA A A1 AR AN WY 39 Ue-gRAH A A

S HEd R (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the
Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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